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QUESTION 1

Which of the following is a Linux based operating system for use on mobile devices? 

A. iOS 

B. CentOS 

C. Android 

D. Debian 

Correct Answer: C 

 

QUESTION 2

Which of the following statements may be used to access the second command line argument to a script? 

A. "$ARG2" 

B. $1 

C. "$2" 

D. "$1" 

E. \\'$2\\' 

Correct Answer: C 

 

QUESTION 3

After installing a new package, in which directory are you most likely find its configuration file? 

A. /lib 

B. /conf 

C. /etc 

D. /usr 

E. /opt 

Correct Answer: C 

 

QUESTION 4

Why is the file data.txt empty after executing sort data.txt > data.txt? 
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A. Because, if data.txt is empty now, it must have been empty before. 

B. Because sort cannot sort text files, only binary files. 

C. Because sort detects that both files are the same. 

D. Because the file gets truncated before sort is executed. 

Correct Answer: D 

 

QUESTION 5

Which criteria are useful when deciding which operating system to use? (Choose THREE correct answers.) 

A. License costs. 

B. Ideological preferences of the system administrator. 

C. Linux can do everything, there is no need for further evaluation. 

D. Availability of mandatory applications and tools. 

E. Skills of the administrators and staff. 

Correct Answer: ADE 

010-150 VCE Dumps 010-150 Exam Questions 010-150 Braindumps

Powered by TCPDF (www.tcpdf.org)

010-150 VCE Dumps | 010-150 Exam Questions | 010-150 Braindumps                                3 / 3

https://www.passapply.com/010-150.html
https://www.passapply.com/010-150.html
https://www.passapply.com/010-150.html
http://www.tcpdf.org
https://www.passapply.com/010-150.html
https://www.passapply.com/010-150.html
https://www.passapply.com/010-150.html

